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Cel i funkcije

baza.pracownik where nazwisko =“Zdebel”

}

baza & where nazwisko =

v

program ::=
wyrazenie ;
| instrukcja ;

: WhereExpression

wyrazenie ::=
wyrazenie . wyrazenie DotExpression BinaryOperatorExpression (=)
| wyrazenie where wyrazenie
| wyrazenie = wyrazenie
| wyrazenie + wyrazenie
| identyfikator IdentifierExpression IdentifierExpression IdentifierExpression StringExpression
| literal
I

( wyrazenie )
Identifier Identifier Identifier StringLiteral

("baza") ("pracownik") ("nazwisko") ("Zdebel")




Potrzebne pliki

Program generatora parserow Program generatora lekserow

#!/bin/ssh .
i

# genparszer.sh "

# Odra

#

# Created by Michal Lentner on EB5-85-81.

# Copwright 2885 PJIIT. All rights reserved.

genparser.sh jflex_jar

jawa —jar jflex.jar lexer.lex —-nobak
java —jar cup.jar -symbols Symbols -porser Parser -interface parser.cup lexer.lex parser.cup
™

package Ddru.shql.purser;r
import java_cup.runtime.Symbol;

public closs Token extends Symbaol {
public int line, column;

public Token{int L, int c, int =) {
superis, L, ci;

line = L;
column = c;

b

public Token{int L, int c, int =, Object walld {
super({s, l, c, val);

line = L,

column = cj;




import jova_cup.runtime.Symbol;

import odra.sbgl.
import odra.sbgl.
import odra.sbgl.
import odra.sbgl.

terminal Integer
terminal String
terminal String

terminal
terminal
terminal
terminal
terminal

ast.*;
ast.expressions.¥;
ast.statements . *;
gst.terminals.*;

INTEGER_LITERAL ;
STRING_LITERAL ;
IDENTIFIER;

SEMICOLON;
PLUS;
MINUS;
TIMES;
DIVIDE;

non terminal SBOLProgram goals;

non terminal ExpressionStatement expr_stmt;

noh terminal Expression =) H

non terminal IntegerLiteral integer_literal;

non terminal Stri

ngLiteral string_literal;

non terminal Identifier zimple_name;

precedence left PLUS, MINUS;
precedence left TIMES, DIVIDE;

start with goal;

goal

expr_stmt

integer_literal

string_literal

simp le_name

ExXpr_

expr
expr
Expr
expr

__ parser.cup

stmt iz

& SEMICOLON

el PLUS expr:e2

:el MINUS expr:eZ
el TIMES expr:e2
el DIVIDE expr:ez

integer_literal:l
string_literal:l
simple_name:i

INTEGER_LITERAL: L

STRING_LITERAL:1

IDENTIFIER:1

: RESULT

: RESULT

: RESULT
: RESULT
: RESULT
: RESULT
: RESULT
: RESULT
: RESULT =

: RESULT

: RESULT

: RESULT

SBOLProgrom{s); =}

ExpressionStatement(e); 1

BinaryExpressionfel, e2, Operator.opPlus); :}
BinaryExpression{el, e2, Operotor.opMinus); :}
BinaryExpressionel, &2, Operator.opMultiplyl; @}
BinaryExpressionfel, e2, Operator.opDivide); :}
IntegerExpression(l); :}

StringExpression{l); 3

IdentifierExpressiondi); :}

IntegerLiteral{l.intYalue()); =3

StringLiteral{l); :3

Identifier{i}; =}




| lexer.lex

private StringBuffer str;

®}

Moublic

Wolass Lexer

Houp

Bline

Hoa Lumn

¥ztote STRING

Feofval{

return new Token{yyline, wycolumn, Symbols.EOF);

Kaofwal}

INTEGER [8-97+
IDENTIFIER = [o0-zh-Z_][a-zA-2_|B-9]*
TERT = [MArAnATA]

WHITESPACE = {LINETERM} | [ “thrif]
LINETERM wr ]l rin

Ex

<YYINITIAL= {
et { return new Token{yvline, wyycolumn, Symbols. SEMICOLON); 3
Tyt { return new Token{ywline, yycolumn, Symbols.PLUS); T
" { return new Token(yyline, yycolunn, Symbols HYPHENY; T
Nt { return new Token(yyline, wycolumn, Symbols.TIMES);
e { return new Token{yyline, wycolumn, Symbols.DIVIDE); 3

JINTEGER} {
int wal;

try {
val = Integer.porselnt{yytext{));

i
catch (Exception e) {
throw new Exception(e.getMessage());

L
return new Token{yyling, yyoolumn, Symbols,INTEGER_LITERAL, new Integer{vall);

b

{IDENTIFIERY
return new Token{yyline, wwcolumn, Symbols,IDENTIFIER, wytext{));

I

W { str = new StringBuffer(); wybegin{STRING); break; %
{WHITESPACEY  { break; }

{ throw new Exception{"Illegal charocter: " + wytext(}d, wvline + 1, yycolumn + 135 3

{ wybegin{¥¥INITIAL); return new Token(yyline, yvcolumn, Symbols.STRIMG_LITERAL, str.toString()); 3
{TEXT} { str.oppend(yytext{)); break;




i| Parser.java
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A The following

package odra.sbe

Sk
* This closs i3
* =1 href="htt}
* on B985 .65
* attefile: st
*/

public closs Le:

S This charg
final public

S¥E initial =
final private

S lexical s
final public
final public

Ak
* Tranzlaotes
*f

final private

a, A4,

A, 4,

R, 8

1, 1

a, 2

2, 2

A, 2

2, 2

+i

PEC
* Tranzlates
*

final private

‘\asm
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CUPSParserSdo_action() &

integer_literal ::= INTEGER_LITERAL

,_.
e
i~

¥
L

IntegerLiteral RESULT = null
int Lleft = {{jova_cup.runtime. Symbol)CUP$Purser$stack.elementAt(CUP$Purser$top—B)).left;
int lright = {{jova_cup.runtime.Symbol )CUP$Parser$stack .e lementAt{CUP$Parser$top-a)).right ;
Integer | = {Integer){{java_cup.runtime.Symbol) CUP$Porserfstack .elementAt{CUP$Parserftop-a)).value;
RESULT = new IntegerLiteral(l.intMalue{));
CUPSParserfresult =
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return CUP$Parserfresult;

e
I

= sinple_name

=~

Expression RESULT = null;
int ileft = ({jova_cup.runtime.Symbol )CUPEParser$stock .elementat (CUP$Parser$top-a)). left;
int iright = {{jova_cup.runtime.Symbol )CUPPorser$stack .e lementAt{CUP$Parser$top-a)).right ;
Identifier i =
RESULT = new IdentifierExpression{i);
CUP$Porserfresult =

==
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return CUP$Parserfresult;
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Expression RESULT = null;
int lleft = ({jova_cup.runtime.Symbol }CUPEParser$stack .elementat (CUP$Parser$top-a)). left;
int lright = ({jova_cup.runtime.Symbol )CUP$Parser$stack .e lementat (CUP$Parser$top-a7).right;
IntegerLiteral | =

RESULT = rew IntegerExpressiondl);
CUP$Parserfresult = new jova_cup.runtime.Symbol{3,

.
=4

-
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return CUP$Parserfresult;

=
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expr DIVIDE e

[l

Expression RESULT = null;
int elleft = {{jova_cup.runtime.Symbol YCUPParser$stack .e lement At {CUPSParser$top-27). left;
int edlright = {{javo_cup.runtime.Symbol )CUP$Parser$stack.elenentAt {CUPEParserftop-2)).right;

i o )

L

int e2left =
int e2right =

{{jova_cup.runtime . Symbo L JCUP$Parser$stack .e lement At {CUP$Parser$top-a 7). left;
((Juvu cup. runtlme Symbol)CUP$Parser$stuck element#t(CUP$Purser$top 8. rlght
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new java_cup.runtime.Symbol (4% integer_literal®/, {{jova_cup.runtime.Symbol)CUPParserd

{Identifier ) {java_cup.runtime.Synbol ) CUP$Parser$stack . lementit (CUP$Parserdtop-a1) . value;

new jova_cup.runtime.Symbol (3 exprds, ({jova_cup.runtine.Symbol )JCUP$Parser$stock e leme

{IntegerLiteral 3 (java_cup.runtime.Symbol) CUP}Parser$stock .elementit (CUP$Parserdtop-@)).value

exprds, ({jova_cup.runtime.Symbol )CUPEParser$stack.e lens

Expression el = (Expression){{java_cup.runtime.Symbol) CUP$Parser$stack.elenentat (CUP$Parser$top-2)).value;



Jak z tego

lermina bash
Last login: Thu Jun 9 11:35:26 on ttyp2
Welcome to Darwin!
Ogrvzek :~ raist$ cd ~/Desktop/jps
Ogrvzek :~/Desktop/ips raist® ./genparser.sh
Reading "lexer.lex"
Constructing NFA : 43 states in NFA
Converting NFA to DFA :

21 states before minimization, 15 states in minimized DFA
Writing code to "Lexer.jawa"
Opening files...
Parsing specification from stondard input...
Checking specification...
Building parse tables...
Computing non-terminal nullability...
Computing first sets...
Building staote machine...
Filling in tables...
Checking for non-reduced productions...
Writing parzer...
Closing files...
CUP +A.18k Parser Generation Summar
B errors and B warnings
18 terminals, 7 non-terminals, and 13 prc
producing 28 unique parse states.
B terminals declared but not used.
B non-terminals declared but not used.
B productions never reduced.
A conflicts detected (@ expected).
Code written to "Parser.jova", and "Symbc = ¥

i| Program.java

-

|51 Program.java:18:1 <No selected symbol> =
import java.io.*;

import odra.sbql.ast.*;
public class Program 4
public void beging) throws Exception {
String prostr = "1 + 2 + 3;";
SBOLProgram obj = {SBOLProgram) new Parser{new Lexer(new StringReader{prgztr))).parse().value;

'/ obj.occept{new SBOLInterpreter(d, null);

public static void main{String[] args) throws Exception {

Ogrvezek :~/Desktop/ips raist$ javac -cp jfle h
new Program y.beging);

Ogrvzek :~/Desktop/jps raist® jova -cp cup.:
Ogrvzek :~/Desktop/ips raistd D b
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